
MKTG 1803DEXTER-DISTRIBUTION.COM  |  1-877-973-3632

TRAILER PARTS & ACCESSORIES

•	 Features the most popular trailer 
hardware and accessories for repair, 
including:

•	  Trailer chain 

•	  Chain Hooks and D-Rings

•	  Handles and latches

•	  U-Bolts for accessory mounting 		   
and marine brackets

•	  Spare tire carriers

•	  Floor screws and floor screw   			 
 driver bits

TRAILER PARTS PRO HARDWARE STORE KIT

by

BRAKE PARTSBRAKE PARTS

TOWINGTOWINGELECTRICALELECTRICAL

JACKS/COUPLERSJACKS/COUPLERS

HARDWAREHARDWARE

RUNNING GEARRUNNING GEAR

Check the color code to find your part quick and easy.

Part# SK-HDWE
*Shelving not included

by

BRAKE PARTSBRAKE PARTS

TOWINGTOWINGELECTRICALELECTRICAL

JACKS/COUPLERSJACKS/COUPLERS

HARDWAREHARDWARE

RUNNING GEARRUNNING GEAR

Check the color code to find your part quick and easy.

FREE Trailer Parts Pro Headercard
(with Purchase of Store Kit)

by



MKTG 1803DEXTER-DISTRIBUTION.COM  |  1-877-973-3632

TRAILER PARTS PRO HARDWARE STORE KIT
Part # Description QTY

SK-HDWE STORE KIT, TRAILER PARTS PRO, HARDWARE, FITS (1) 4’x5’

COLUMN 1 - TOP TO BOTTOM

HW02-100 Trailer Chain Assembly, Grade 30, 3/16" x 27" Long, Two S-Hooks, 2 Pack 2

HW02-110 Trailer Chain Assembly, Grade 30, 1/4”x 30” Long, Two S-Hooks, 2 Pack 2

6220 Spare Tire Carrier without Lock 2

6280 Spare Tire Carrier For 4 & 5 Bolt Wheel with Padlock 2

COLUMN  2 - TOP TO BOTTOM

HW01-050 Chain, Clevis Grab Hook 11.7K For 5/16” Chain 2

HW01-055 Chain, Clevis Grab Hook 16.2K For 3/8” Chain 2

HW01-085 Snap Hook, 5/8” (Qty 2) 2

HW01-065 Chain Quick Link, 5/16” (Qty 2) 2

HW01-070 Chain Quick Link, 3/8” (Qty 2) 2

COLUMN 3 - TOP TO BOTTOM

HW01-005 S-Hook For 3/16” Safety Chain, 2 Per Package 2

HW01-025 S-Hook, 3/8” Galvanized, 270lb Limit (Qty 2) 2

HW01-030 Clevis Slip Hook, 1/4" with Latch, 7800lb Cap 2

HW01-035 Clevis Slip Hook, 5/16” with Latch 11,700lb Cap 2

HW01-040 Clevis Slip Hook, 3/8" with Latch, 16,200lb Cap 2

COLUMN 4 - TOP TO BOTTOM

HW03-010 Bolt-On Tie Loop, 1/2" x2" Round, Aluminum 2

HW03-020 D-Ring, Bolt-On, 1 1/8"x1 1/8" (Qty 2) 2

HW03-030 Recessed Rope Ring, 5” x3 1/2”, 3/8” Deep 2

HW03-040 Surface Mount Rope Ring, 4.25” Dia, .25” Ring 2

HW03-050 D-Ring, Bolt-On, 2 1/2”x3/8”, 1/2” 2

COLUMN 5 - TOP TO BOTTOM

HW03-100 Folding Step/Handle, 2 1/8”x 4 3/8”, Bolt-On 2

HW05-090 Door Hold Back, Metal 2 Pc Hook & Keeper 2

HW03-070 Recessed D-Ring 4 7/8”x 4 1/2” Plate, 1 3/8” Ring 2

HW03-060 Weld-On D-Ring with Bracket 5/8" Ring, 3"x3" ID 2

COLUMN 6 - TOP TO BOTTOM

HW05-010 Locking “L” Handle For Cab Locks, 5/16” Square Shaft 2

HW05-020 Locking “T “ Handle For Cab Locks, 5/16” Square Shaft 2

HW05-040 Junior Flush Latch Stainless Steel Finish, Locking 2

HW05-050 Flush Latch, Plain Finish, Locking 2

COLUMN 7 - TOP TO BOTTOM

HW03-080 Weld-On Stake Pocket, 3 1/2”x1 5/8” 2

381344UB U-Bolt, Square Zinc, 3/8”x 1-3/4”x4” Long, 2/Package, includes Nylon Insert Locknuts & Flat Washers 2

383384UB U-Bolt, Square Zinc, 3/8”x3-3/8”x4-1/4” Long, 2/Package, includes Nylon Insert Locknuts & Flat Washers 2

7162184UB U-Bolt, Square Zinc, 7/16”x 2-1/8”x4” Long, 2/Package, includes Nylon Insert Locknuts and Flat Washers 2

TX430-3 Screw Driver Bit For Torx Head T30 (Pkg. Of 3) 2

COLUMN 8 - TOP TO BOTTOM 

382144UB U-Bolt, Square Zinc, 3/8”x2-1/4”x4-1/4” Long, 2/Package, includes Nylon Insert Locknuts & Flat Washers 2

382385UB U-Bolt, Square Zinc, 3/8”x2-3/8”x5-1/4” Long, 2/Package, includes Nylon Insert Locknuts & Flat Washers 2

122185UB U-Bolt, Square Zinc, 1/2”x2-1/8”x 5-1/4”Long, 2/Package, includes Nylon Insert Locknuts & Flat Washers 2

7164183UB U-Bolt, Square Zinc, 7/16”x 4-1/8”x3” Long, 2/Package, includes Nylon Insert Locknuts & Flat Washers 2

TX450 Torx Bit Kit with Drill Bit, Bit Holder and T30 Torx Bit 2

BOTTOM SHELF - LEFT TO RIGHT

HW05-060 T-Handle Latch Stainless Steel Finish, Locking 2

TF01-150 Floor Screw, Torx Head 1/4"x1 1/2", 40 Pack 2

TF01-225 Floor Screw, Torx Head 1/4"x2 1/4", 40 Pack 2

TF01-250 Floor Screw, Torx Head 1/4"x2 1/2", 40 Pack 2

TF02-150 Floor Screw, Torx Head 1/4"x1.50" for use w/ACQ Treated Wood, 40 Pack 2

TF02-225 Floor Screw, Torx Head 1/4"x2.25" for use w/ACQ Treated Wood, 40 Pack 2

TF02-250 Floor Screw, Torx Head 1/4"x2.50" for use w/ACQ Treated Wood, 40 Pack 2


